
SAP ABAP table HRWPC_S_SURVEYRESULT {Survey Results (Infotype 1051 Fields with Text)}

HRWPC_S_SURVEYRESULT

MANDT [CLNT (3)]

PLVAR [CHAR (2)]

OTYPE [CHAR (2)]

INFTY [CHAR (4)]

SUBTY [CHAR (4)]

ISTAT [CHAR (1)]

JCODE [CHAR (8)]

WAERS [CUKY (5)]

PERIO [CHAR (1)]

T000

MANDT [CLNT (3)]

 HRWPC_S_SURVEYRESULT-MANDT = T000-MANDT 
0..N

0..N

T710F

MANDT [CLNT (3)]

FREQU [CHAR (1)]

 HRWPC_S_SURVEYRESULT-PERIO = T710F-FREQU 
0..N

1

T710S

MANDT [CLNT (3)]

SCODE [CHAR (4)]

JCODE [CHAR (8)]

ENDDA [DATS (8)]

 HRWPC_S_SURVEYRESULT-JCODE = T710S-JCODE {0,1}

1

T778O

MANDT [CLNT (3)]

OTYPE [CHAR (2)]
 HRWPC_S_SURVEYRESULT-OTYPE = T778O-OTYPE 

0..N

0..N
T778P

MANDT [CLNT (3)]

PLVAR [CHAR (2)]

 HRWPC_S_SURVEYRESULT-PLVAR = T778P-PLVAR 
0..N0..N

T778S

MANDT [CLNT (3)]

ISTAT [CHAR (1)]

 HRWPC_S_SURVEYRESULT-ISTAT = T778S-ISTAT 

0..N

0..N

T778T

MANDT [CLNT (3)]

INFTY [CHAR (4)]

 HRWPC_S_SURVEYRESULT-INFTY = T778T-INFTY 

0..N

0..N

T778U

MANDT [CLNT (3)]

INFTY [CHAR (4)]

SUBTY [CHAR (4)]

 HRWPC_S_SURVEYRESULT-SUBTY = T778U-SUBTY 

0..N

0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 HRWPC_S_SURVEYRESULT-WAERS = TCURC-WAERS 

0..N

0..N


